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A & 0l & AF 2 E A A
20158 = =0l& LB A IIEISESH S#FESH
SN BAESD
dM: NS ZES
Sl HES XY CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
S2IE2S D 7,782,024 10,703,654 A2,921,630
= 579,570
J| 53,757
< 112,342
Al 7,036,355
oI ES 801,437 519,209 282,228
= 120,000
J| 53,757
< 31,440
Al 596,240
HHEE SFHELH 801,437 519,209 282,228
= 120,000
J| 53,757
= 31,440
Al 596,240
SEL2EA A 74,620 74,840 A 220
101 @124 dl 15,040 15,040 0
04 JIZHHZ2Z2XNESE S+ 15,040 15,040 0
OBAMHRLZANLSTAALY
15,040,000 15,040
201 Let249] 36,080 36,080 0
01 At 22l 14,080 14,080 0
OostgdiEaRg=a DAM M= 5,600,000& 5,600
osgtgife=g=s 2= MA 1,000,000 1,000
OtIMERES E8 =8 1,700,000& 1,700
OZoHtH&= A OF2HESJ Z 4l
2,000,000 2,000
OU&AIJERI S FH R SSEHHE SAH|
1,800,000& 1,800
ouJlzel =9 & 222 M
1,000, 000& 1,000
OB E/A &8 980,000& 980
02 =224l 22,000 22,000 0
OEL2YE MEMH==2 5,000,000& 5,000
Ogadzd DAAM & ¢UHE 28 2ERS
17,000, 000& 17,000
202 Odl 9,000 9,360 A 360
01 = LH 4 1i 9,000 9,360 A 360
Ostzd2gd = S ol 4,000,000 4,000
OMelot=HelAld £ =2 HelAlE X&E
& oyl 1,000, 000& 1,000
O+HRIEBYX °2 S = Oft]
4,000,000& 4,000
203 YR =&t 9,500 9,360 140
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5 - 4
(B1H) - HEAY - B2 %Eﬁ 2t
03 Al 9,500 9,360 140
KA2=XHl 9,500,000 9,500
206 T 4,000 4,000 0
01 4,000 4,000 0
2 ARE RA(AFHAIZMH,
4.,000,000& 4,000
301 1,000 1,000 0
11D 1,000 1,000 0
1,000,000& 1,000
MEZ XX 3,600 3,200 400
== 1,440
Al 2,160
301 3,600 3,200 400
= 1,440
Al 2,160
11 JIEtE & 3,600 3,200 400
S22 X X8 MY 3,600,000& 3,600
= 1,440
Al 2,160
ME= 1 40,000 18,264 21,736
2 15,000
Al 25,000
201 gEt2H Y| 7,000 0 7,000
01 AP 2t 2] d| 7,000 0 7,000
ORdl OtMs= E XA 7,000,000 7,000
206 M = dl 3,000 0 3,000
01 =4l 3,000 0 3,000
Ol 3,000, 000& 3,000
301 30,000 18,264 11,736
2 15,000
Al 15,000
11 30,000 18,264 11,736
30,000, 000& 30,000
= 15,000
Al 15,000
A Al 7,400 7,400 0
201 2,000 2,000 0
03 2,000 2,000 0
2,000,000& 2,000
301 5,400 5,400 0
09 5,400 5,400 0
5,400,000 5,400

-2 -




2N
X ZH -
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hes=E BEsAMdY 18,200 20,000 A 1,800
201 LBH2d| 5,200 4,000 1,200
02 8322l 5,200 4,000 1,200
OOMSAZ U SASHYI| HZ2YY|
5,200,000& 5,200
206 M= Hl 8,000 8,000 0
01 =8l 8,000 8,000 0
O0rds=S "ol 3,000,000& 3,000
ORMOIMsSE JlsZaltt 2HAY
5,000,000& 5,000
301 et a = 5,000 8,000 A 3,000
11IIEtEA S 5,000 8,000 A 3,000
OOtdSE0l 2et s&HE Tl2d=2
5,000,000 5,000
ENEE SZIHE ALY 262,060 233,392 28,668
101 1244 dl 59,160 61,452 N2,292
04 D12t Z2XRESES 59,160 61,452 AN2,292
OMEIEH2g 1Al 59,160,000& 59,160
201 Let24d] 76,500 66,500 10,000
01 At 2teltl 24,000 20,000 4,000
OF=2--1. 20,000, 000& 20,000
OEMEIH 22 HIE #< 2,000,000& 2,000
OAIR EMd 20t A& & xE 2,000,000 2,000
02 =224l 52,500 46,500 6,000
OEMM EZ Xt & 2 Kbl 10,000, 000& 10,000
ONZ 2E Xtg =Xl 2,500,000 2,500
OMEIH 22223 22,000, 000& 22,000
OEMEIE A& &Hl =Xdl 10,000, 000& 10,000
OnE=Zs Mo 8,000,000 8,000
202 o4dl 1,800 1,440 360
01 = LH o4 1l 1,800 1,440 360
OEMAFY Z=ZXI O I 1,800,000 1,800
206 = Hl 124,000 104,000 20,000
01 MHZ 4l 124,000 104,000 20,000
ORFALD EHES ¢ 24,000,000& 24,000
OMMEZHM & XM 2 100,000, 000& 100,000
405 TtHabF S| 600 0 600
01 et EFHSHI 600 0 600
OMEEHW MEI F 600,000 600
AHLMSAX S 2el 19,000 19,000 0




AN EIESH
M NHSBEES
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 1244 dl 16,000 16,000 0
04 JI12ZtHZ22HEE =+ 16,000 16,000 0
OXNgLdsaAX 22 2 16,000, 000& 16,000
201 Let24d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
O8+=% & 822 WA 1,500,000& 1,500
OHHEN 22X =S4 1,500, 000& 1,500
EFAZOIERN QIMEE K& 6,000 10,000 A 4,000
= 3,000
Al 3,000
301 et a = 6,000 10,000 A 4,000
= 3,000
Al 3,000
MIIEE4d3 6,000 10,000 A 4,000
OEAZQE QHEE X3 6,000,000 6,000
= 3,000
Al 3,000
Jeleld gsXd 4,000 4,000 0
= 2,000
Al 2,000
301 getEd= 4,000 4,000 0
= 2,000
Al 2,000
1MIIEESS 4,000 4,000 0
Odgeld 24 & X 4,000,000 4,000
= 2,000
Al 2,000
ZIIER S40|Y &ZJ=X|HH 2 200,000 100,000 100,000
= 100,000
< 30,000
Al 70,000
307 glz2+ol & 60,000 100,000 A 40,000
< 18,000
Al 42,000
02 It A AHEE 60,000 100,000 A 40,000
O=8 471 &3Hd XI& 60,000,000 60,000
< 18,000
Al 42,000
402 RI2EXt20| ™ 140,000 0 140,000
= 100,000
< 12,000
Al 28,000
01 22t t= AP E X 140,000 0 140,000
OHZEMoISANE 84X XA 140,000, 000& 140,000
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Sl WEE HAEY (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 100,000
= 12,000
Al 28,000
A QA=A O|HEI 24 50,000 0 50,000
J| 50,000
207 I | 50,000 0 50,000
J| 50,000
01 g E Y| 50,000 0 50,000
Ozx2QY S2U2| AgHE odHEI 299
50,000, 000& 50,000
J| 50,000
=AQAES HIES, 42 PLHE < 3,757 5,063 A 1,306
J| 3,757
207 A F ) | 3,757 5,063 A 1,306
J| 3,757
01 g EAHH| 3,757 5,063 A 1,306
Ozl =& Z2LHEY 89
3,756,645& 3,757
J| 3,757
S2AIA 2= 8,000 6,000 2,000
201 gEt24y| 3,000 6,000 A 3,000
01 AF 2t 2| H| 3,000 6,000 A 3,000
OMEA sMEYE EE22 HE S
3,000,000 3,000
206 M = Hl 5,000 0 5,000
01 =4l 5,000 0 5,000
OBtAs=SgEIZZOd N 2= &=
5,000,000 5,000
EMOI2LCI Ol 2 12,800 8,800 4,000
201 et d| 12,800 8,800 4,000
03 A2 | 12,800 8,800 4,000
OEMOI2tEIDl 29 8,800,000& 8,800
OnNg £20t2t410l 24 4,000,000& 4 000
IZHS NS NRAHAHE = 70,000 0 70,000
207 A0 | 70,000 0 70,000
01 A2 EHH| 70,000 0 70,000
OJlsHe NS HRASN 89
70,000,000& 70,000
MEISIE =R KX 2l 22,000 0 22,000
201 LBt Y| 1,000 0 1,000
01 AP 22| d| 1,000 0 1,000
OMEIH 23 =22 M 1,000,000 1,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 04| 1,000 0 1,000
01 2Ll 1,000 0 1,000
OMEIcHE SA2el E2FF 0|
1,000,000 1,000
401 AlEHIZL £ 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OMEIcIE S X 22l At 20,000,000& 20,000
MEHHE S 14,750 12,153 2,597
&< 3,500
Al 11,250
AMEHH Wt OFMAlS § X| 14,750 12,153 2,597
& 3,500
Al 11,250
MEfmEt OFMAIZ E X 14,750 12,153 2,597
& 3,500
Al 11,250
101 2121 H] 8,750 8,153 597
& 3,500
Al 5,250
04 JI2ZtHIZ22NEE S 8,750 8,153 597
OME N H et OrMAS EXIALS 8,750,000& 8,750
= 3,500
Al 5,250
201 et | 2,000 2,000 0]
02 32%H| 2,000 2,000 0
OME N H D OFMAISEXIAIY AlEEH SX
Hl 2,000,000 2,000
206 M = dl 2,000 0 2,000
01 =4l 2,000 0 2,000
OMEfH WE OrMAIS HZ=H| 2,000,000 2,000
405 XHAHFE S HI 2,000 2,000 0
01 XA 2 ZF S| 2,000 2,000 0
OME N H Dt OFMAISEXAIY A& EH 2
2,000,000& 2,000
Holeyg 22| 979,220 792,047 187,173
= 459,570
= 77,402
Al 442 248
oy =& 40,000 67,000 A 27,000
= 7,200
Al 32,800
ol =322 16,000 45,000 A 29,000
201 et 9| 16,000 17,000 A 1,000
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M
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Sl 16,000 17,000 21,000
LEMBE2LH (M2, 888, |
g) 8,000,000& 8,000

OSZ=ZFHIEFZAH ¥ |X 22l

2,000,000& 2,000
OZole=xeE KAl 6,000,000& 6,000

Holsde sizel 24,000 22,000 2,000

7,200
16,800

= M

201 L Et2A | 24,000 22,000 2,000

< 7,200
Al 16,800

]l 24,000 22,000 2,000

24,000,000 24,000

7,200
16,800

= M

CHOIE JHA AL 939,220 725,047 214,173
459,570
70,202
409,448

=z N W

=C AU =& 473,440 532,390 A 58,950
236,720
60,026
176,694

= W

402 212t X201 & 473,440 532,390 A 58,950
236,720

60,026
176,694

= W

01 g2t tEMAEE 473,440 532,390 A 58,950

Oo2dxt M3dizt AL 473,440,000 473,440
236,720
60,026
176,694

= W

HHIAXNSHES 116,800 104,000 12,800

58,400
58,400

= A

402 RI2FXt=01 M 116,800 104,000 12,800

58,400
Al 58,400

H

01 A Tt=AIEE X 116,800 104,000 12,800
St B3 AtY 116,800,000& 116,800

58,400
Al 58,400

H

S0 HoIgZ e 29,400 18,200 11,200
21,000

H
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9,620
4,810

740
4,070

11,657

A2,087

307 glz2tol &

Z W

9,620
4,810

740
4,070

11,657

A2,037

9,620,000&

= M W

9,620

9,620
4,810

740
4,070

11,657

A2,087

ZIHXN EX3 X2 22 W

02

AL

1,500

1,200

300

402 2I2tXE201 &

1,500

1,200

300

|
02 BI2HCH & AL HI

2t
HO
OXJIHX 23 XN 22 O

02

d

|
1,500,000&

1,500

1,500

1,200

300

AATol FHS0AE

Al

1,430

715
715

1,430

= M

1,430

715
715

1,430

=]
OXHIMN FHSHAS

1,430,000&

= M

1,430
1,430

715
715

1,430

SdI0IE MelAtg

= N W

77,280

38,640
5,796
32,844

57,600

19,680

403 X SHHSA=01H

= W

77,280
38,640

5,796
32,844

57,600

19,680

77,280

57,600

19,680
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SRl o2 HAA (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsdolE Mel K& At 77,280,000 77,280
= 38,640
< 5,796
Al 32,844
T2 THHIAHX HAHEE &= 200,000 0 200,000
= 100,000
Al 100,000
405 XtAtE SHI 200,000 0 200,000
= 100,000
Al 100,000
01 AL = ZFH SHI 200,000 0 200,000
OE2 MHIASHX HHEH &=
200,000,000 200,000
= 100,000
Al 100,000
FHAAHE SM0tAZR XA 9,750 0 9,750
< 2,925
Al 6,825
206 M= Hl 9,750 0 9,750
< 2,925
Al 6,825
01 M2 4l 9,750 0 9,750
OFALAHE SMOtAZT XA 9,750,000 9,750
< 2,925
Al 6,825
SHEX HolEd Ho 20,000 0 20,000
403 UHXHHSA=0l& 20,000 0 20,000
02 S| 2 S0il CH&HCH & A I 20,000 0 20,000
O« HolE8d e 20,000, 000& 20,000
HOIZ X33 5,921,137 9,318,525 A 3,397,388
HIISHMel At 3,672,962 3,251,100 421,862
HOIZ2 BE XA 2,903,060 2,713,660 189,400
201 £B-2dH| 242,100 196,200 45,900
01 At 22l 26,500 26,200 300
OZsaaa 2d 3o F4=Z 1,000,000& 1,000
O=tdilstd daXAS HAYIE
1,500, 000& 1,500
OMYINIEHHM(ZHE) EE22 ¢ 08 A
= 8,000,000 8,000
Oz dstes 2 (2EHHE 2RSS, 20!
S ME Z20H 8) 10,000, 000& 10,000
OBZ0I8Y FLARE(URNZE S) 7
5,000,000 5,000




SA: BAESD
M HolE XFE
S HIISH™el At (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJelst=HMelAld E22 HMHE(EM S)
1,000,000 1,000
02 =224l 215,600 170,000 45,600
Oztaa KXl 25,000,000& 25,000
OLHEAIZE SFAZel 70,000,000& 70,000
OZ2eJ|Istetxd A2l 50,000,000 50,000
OSZOISEARY RITLUH (B3 S)
3,000,000& 3,000
OMYDIEYSEISHERE A 22l
4,000,000 4,000
OHJIEXMelgNE2E SFHI 2,500,000& 2,500
O28SIIHII2 ™Meldl 20,000,000 20,000
OMoHAFDHIIZS Heltl 15,000, 000& 15,000
OXBL-HHAI HEAMK™IH 25,000,000 25,000
OMYDIEHHEsE B2 HsLH 2=
600,000 600
oMl SEN=sE 22810 HEEE
500,000& 500
202 oddl 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OmJIZE 28I s g2 2,160,000 2,160
206 M= Hl 144,000 108,000 36,000
01 =8l 144,000 108,000 36,000
CHASEAXEE B4 22 18,000,000 18,000
OEHHHIIE ¥EZU M= 6,000,000& 6,000
OXgdl SENESE £ FSUSEH MA
120,000, 000& 120,000
207 A RO H] 16,000 0 16,000
01 A7 39l 16,000 0 16,000
OMEHIIES =& SEHAEM HIHEHA
16,000,000 16,000
301 et a3z 5,300 5,300 0
09 HALAHIEA S 5,300 5,300 0
Ogd0lsta Ad&X A 3,300,000 3,300
Ostdilstd n=s34atl 2,000,000& 2,000
307 21201 A 2,493,000 2,402,000 91,000
05 RIZtE = 2,493,000 2,402,000 91,000
OZ2Sst&4 2l AAe 193,000, 000& 193,000
Ogzt HEHIIES =H2E S|
2,300,000,000& 2,300,000
405 XtatE SHI 500 0 500
01 XML =SS FH SHI 500 0 500




EXN: sH3ES ]
Hz: HIIS I
2 HIISXEl ALY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OO0|SHJAIR A HEDI 2 500,000& 500
=T HOHE X BHA AL 34,440 34,440 0
202 044l 1,440 1,440 0
01 2L Y| 1,440 1,440 0
=CHMME X HIISELAR =X
1,440,000 1,440
307 QI2t0| ™ 33,000 33,000 0
05 QIZtRES 33,000 33,000 0
OF=ZZHMHEX IXNESHHEESZ2 23,000,000 23,000
Ox=CdHIMHEX HIISEL L2
10,000,000& 10,000
AF=ALE 2H 732,462 500,000 232,462
308 MXISHMSOIA 732,462 500,000 232,462
07 MIXSHHM2UAREE 3 732,462 500,000 232,462
OFZLAAAZE 2 H=E2 732,462 ,000& 732,462
DHESIAEA XNE2Y 3,000 3,000 0
201 B9 3,000 3,000 0
02 E2=2=2%H| 3,000 3,000 0]
ORYHS&A XNEFSY 3,000,000 3,000
BtHI| AL 22 1,827,115 1,453,425 373,690
MEMD] HEtE 22| 111,900 82,000 29,900
201 LBt ]| 82,000 82,000 0
02 2=2=24%H| 82,000 82,000 0
OME MY Dl Heta AlE & SEH(XHE)SX
Hi 50,000,000 50,000
OMEBMY D HEE Z2R2 L AZ +42
S(Xot42 2 58 AAIEER) 32,000
32,000,000&
207 I & 29,900 0 29,900
01 A& | 29,900 0 29,900
ONBEZ2 WX FHHAYY Z82D 89
29,900,000 29,900
H2sSAME HelXE 1,431,215 1,140,625 290,590
201 gEt24Ay| 257,230 177,380 79,850
01 AP 22| d| 4,500 3,900 600
OSAEZTHIIZE SSHMH A L 2 =22
M= 3,000,000& 3,000
OtE0|Istd MEXAS HALXS
1,500,000 1,500
02 Z2=2=24%4| 252,730 173,480 79,250
OSAZSRHIIES MNIASALE 2222 140,330




2H: BEESDY
M HOI2 NS
el BAIFAL DL CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-&JI=2 93,000,000& 93,000
—AFISRADAMA =2 39,900,000& 39,900
Ald YA AHI|IHAEI 2,000,000& 2,000
-2 JO|HAE A A &b 3,200,000& 3,200
-SOIAIE 422 AtHI 1,350,000& 1,350
-XIHX XAEFEES 400,000 400
2D Uz 480,000 480
OSAMZFRHIIENEE Al L HH S 4| 112,400
-ZAEHE 2L 60,000,000 60,000
-XNAHX B2 + 1,400,000 1,400
-LPGOF A el 1,000,000& 1,000
-AE B AHZ AA 8,000,000& 8,000
“2OoIABAIAEH 2 2,000,000& 2,000
-JIH € &I &dl £=2lb] 40,000, 000& 40,000
202 044 2,400 2,160 240
01 2LHOHI 2,400 2,160 240
OSAEZHIIE M &2 5 b
2,400,000& 2,400
206 M = Hl 37,500 27,000 10,500
01 X2 Hl 37,500 27,000 10,500
OSAEZHIIE M SN SEME
7,500,000& 7,500
OSAEZHIIE MEFHED (1
15,000,000 15,000
OSASFRHIIS MNISIAIE A2 AR2S
2 15,000,000 15,000
301 AP B A 4,085 4,085 0
09 HAIAH EA= 4,085 4,085 0
OstZ0|I3a Ad&X AS 4,085
—-AlH| 665,000 665
-= 8t 570,000& 570
-J| E} 2,850,000 2,850
307 QI2t0| ™ 980,000 810,000 170,000
05 QIZ2tR E 2 980,000 810,000 170,000
OSAZFHIIZ 22t E KX 40,000,000 40,000
OSAEZHIIE =)L A2 E
850,000,000 850,000
OSAZSFHIIZS E&ES(EMS) D2t E A2
ul| 90,000,000& 90,000
401 AIEHIL 20| 150,000 120,000 30,000
01 Al bl 150,000 120,000 30,000




M BAES
M HolE XFE
SR BHEIIEZ AL 2e CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSAERHIIE RAASAIE JIAH & MII4H|
2 2 L 150,000, 000& 150,000
Hasg 483 X 214,300 170,600 43,700
201 LBH2d| 145,300 113,600 31,700
01 At 2t 2l 3,900 3,200 700
OoMags88gs 428 ¢ 1,200,000& 1,200
ONMEgEs Eal=H 822 HM& 2,700,000 2,700
02 =224l 141,400 110,400 31,000
oNgsddgd 23ea(x+5 S)NE 66,400
-HlIe3 56,000,000 56,000
JIEt==2 5,400,000 5,400
—-XH& & Akt 1,000, 000& 1,000
-AHEER 4,000,000 4,000
OMEEHEE A8 £ &HHl RXH 75,000
-ER(E)2Y 36,000, 000& 36,000
-Xtg el 24,000,000 24,000
-HESHEE AIEE =2l 15,000, 000& 15,000
206 M= Hl 27,000 25,000 2,000
01 =8l 27,000 25,000 2,000
OMEBELEE ANERA 4225 7Ll 27,000
-2 10,000, 000& 10,000
-DEEZ 5,000,000 5,000
-HEZ 2,000,000 2,000
-HEEs = 0t 5,000,000 5,000
-JIEt 5,000,000& 5,000
307 21201 A 42,000 32,000 10,000
05 BIZERIE 3 42,000 32,000 10,000
OMEESHIIS LU E X
42,000,000 42,000
LIsZH M3 FF 4,500 4,000 500
201 YEr2 Y| 4,500 4,000 500
03 #AL2Z Hl 4,500 4,000 500
OUsZH A izl £ 2 dl 4,500,000& 4,500
SAESE HII2 M =2 65,200 56,200 9,000
201 Let249H] 18,000 18,000 0
02 =24l 18,000 18,000 0
OSAE] HIIS(RFIDZA) NEHSEHH =
2R3 18,000
—Ste3 16,800, 000& 16,800
-HIIe3 1,200,000 1,200




SN BAESD
M HolE XFE
el BRI EAL L CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 7,200 7,200 0
MIIEEE=S 7,200 7,200 0
OSS=H(0IIE) SAEF HIIS SEH &
=& =2 7,200,000& 7,200
401 Al HIZ 201 Y] 40,000 20,000 20,000
01 A& HI 40,000 20,000 20,000
OSAER HIIE2 SZHM(RFIDEA) HEAHE
ZHl FANE* 40,000,000& 40,000
SFHYFTAYAL AT HLE (SFHANLFTHZATE S 421,060 4,614,000 A4,192,940
SAEEXLANSESA)
SFHLFHZFIALAFAHLENR 421,060 4,614,000 A 4,192,940
308 XXM SOIA 421,060 4,614,000 24,192,940
07 IXNSHH AR S = 421,060 4,614,000 A 4,192,940
OSFEYZA ZALAT AU 223
421,060,000 421,060
HH2IZH (B Z2ES D) 65,480 61,720 3,760
Jl2dd(aZEsm) 65,480 61,720 3,760
Jl2du(#ZdE2s) 65,480 61,720 3,760
201 €24l 15,200 14,200 1,000
01 At 22l 15,200 14,200 1,000
ORME2Y MREHI(SE) 15,200, 000& 15,200
202 044l 46,080 44,160 1,920
01 = LH o4 1l 46,080 44,160 1,920
OJle2gea8udl(24Y) 46,080,000 46,080
203 ¥ S =&l 4,200 3,360 840
04 FNSEHE=LH 4,200 3,360 840
ORMSHY2FXHI(3021015t)
350,000& =128 4,200




